SANGAM International Journal of Multidisciplinary Research

Vol. 02, Issue 01, September (2024)

E-ISSN: 2584-086X

THE INTEGRAL TRANSFORM OF PRODUCT OF SPECIAL FUNCTIONS

Karuna Laddha^{1*}, Deepak Kumar Kabra², Seema Kabra³

^{1*} Research Scholar, Department of Mathematics, Sangam University, Bhilwara, Rajasthan, India. ² Associate Professor, Department of Mathematics, Sangam University, Bhilwara, Rajasthan, India.

³ Associate Professor, Department of Mathematics, Sangam University, Bhilwara, Rajasthan, India.

e-mail: karunaladdha 9@gmail.com, dkabra 20@gmail.com, kabra seema@rediffmail.com

Available online at: <u>www.sijmr.org</u>

Abstract— This paper refers to the study of product of Special G function and Generalized Mittag – Leffler function, we derive various integral transform, including Euler transform, Laplace transform, Whittaker transform, Hankel transform. Some results are expressed in terms of generalized Wright function. The transforms found here are likely to find useful in problem of Sciences, engineering and technology.

Keywords— Euler transform, Laplace transform, Whittaker transform, Hankel transform, Fractional Fourier transform, Generalized Wright function, Special G function, Generalized Mittag- Leffler function.

2020 Mathematics Subject Classifications: 26A33, 44A20, 33C20, 33E50

II. INTRODUCTION

Throughout this paper, R and C denote the sets of real and complex numbers, respectively. Also $R^+ = (0, \infty)$, $N_0 = \{0, 1,\}$ and $Z^- = \{-1, -2,\}$.

Definition 1.1 Special G function:

The special $G_{\rho,n,\nu}[a, z]$ is defined by [1, 2] as

$$G_{\rho,\eta,\gamma}[a,z] = z^{\gamma\rho-\eta-1} \sum_{n=0}^{\infty} \frac{(\gamma)_n (az^{\rho})^n}{\Gamma(n\rho+\rho\gamma-\eta)n!}$$
(1)

Definition 1.2 Generalized Mittag- Leffler Function

Gosta Mittag – Leffler the Swedish mathematician introduced the term Gosta Mittag – Leffler function i.e., Mittag – Leffler function is defined [3] as

$$E_{\gamma}(d) = \sum_{n=0}^{\infty} \frac{(d)^n}{\Gamma(\gamma n+1)} \qquad (d \in C; \quad R(\gamma) > 0)$$

where is a gamma function, after this Wiman generalized the Mittag – Leffler function as follows,

$$E_{\gamma,\nu}(d) = \sum_{n=0}^{\infty} \frac{(d)^n}{\Gamma(\gamma n + \nu)} \qquad (d \in C; \min(R(\gamma)R(\nu)) > 0)$$

there are number of ways in which Mittag- Leffler function

$$E_{\lambda,\beta}^{\phi}\left[z\right] = \sum_{m=0}^{\infty} \frac{\left(\phi\right)_m}{\Gamma\left(\lambda m + \beta\right)} \frac{z^m}{m!}$$
⁽²⁾

© 2024, SIJMR All Rights Reserved

where $\lambda, \beta, \phi \in C$ ($R(\lambda) > 0$)

Definition 1.3 Product of G function and Mittag - Leffler function

$$G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda,\beta}^{\phi}[z] = z^{\gamma\rho-\eta-1} \sum_{n=0}^{\infty} \frac{(\gamma)_n (az^{\rho})^n}{\Gamma(n\rho+\rho\gamma-\eta)n!} \sum_{m=0}^{\infty} \frac{(\phi)_m}{\Gamma(\lambda m+\beta)} \frac{z^m}{m!}$$

let m = n = k then

$$G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda,\beta}^{\phi}[z] = z^{\gamma\rho-\eta-1} \sum_{k=0}^{\infty} \frac{(\gamma)_k (az^{\rho})^k}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{(\phi)_k}{\Gamma(\lambda k+\beta)} \frac{z^k}{k!}$$
(3)

Definition 1.4 Fox – Wright Generalized Hypergeometric Function

In 1933, E.M. Wright defined a more interesting generalized hypergeometric function of one variable [4] and further generalizations of the series ${}_{p}F_{q}$ were given by Fox [5] and Wright [6,7,8];

$${}_{p}\psi_{q}(z) = {}_{p}\psi_{q} \left[\begin{pmatrix} \alpha_{1}, A_{1} \end{pmatrix}, \dots, \dots, \begin{pmatrix} \alpha_{p}, A_{p} \end{pmatrix} | z \right]$$

$$= \sum_{n=0}^{\infty} \frac{\Gamma(\alpha_{1} + A_{1}n)\Gamma(\alpha_{2} + A_{2}n), \dots, \Gamma(\alpha_{p} + A_{p}n)}{\Gamma(\beta_{1} + B_{1}n)\Gamma(\beta_{2} + B_{2}n), \dots, \Gamma(\beta_{q} + B_{q}n)} \frac{z^{n}}{n!}$$
(4)

where the coefficients $A_1, \dots, A_p \in R^+$ and $B_1, \dots, B_q \in R^+$ such that

$$1 + \sum_{j=1}^{q} B_{j} - \sum_{i=1}^{p} A_{i} \ge 0$$

for suitably bounded values of |z|. $\alpha_1, \alpha_2, ..., \alpha_p, \beta_1, \beta_2, ..., \beta_q$ are complex parameters.

The Fox - Wright function is a special case of the Fox – H function as [9]

$${}_{p}\psi_{q} \begin{bmatrix} (\alpha_{1}, A_{1}), \dots, (\alpha_{p}, A_{p}) \\ (\beta_{1}, B_{1}), \dots, (\beta_{q}, B_{q}) \end{bmatrix} z = H_{p,q+1}^{1,p} \begin{bmatrix} -z | (1 - \alpha_{1}, A_{1}), \dots, (1 - \alpha_{p}, A_{p}) \\ (1 - \beta_{1}, B_{1}), \dots, (1 - \beta_{q}, B_{q}) \end{bmatrix}$$
(5)

Definition 1.5 The Euler Transform ([10], see also [11])

The Euler transform of a function f(z) is defined as

$$B\{f(z); a, b\} = \int_0^1 z^{a-1} (1-z)^{b-1} f(z) dz$$

$$a, b \in C, R(a) > 0, R(b) > 0$$
(6)

Definition 1.6 The Laplace Transform ([10])

The Laplace transform of a function f(t), is given by the equation

$$F(s) = L\{f(t); s\} = \int_0^\infty e^{-st} f(t) dt R(s) > 0$$
(7)

Provided that the integral is convergent for t > 0 and of exponential order as $t \to \infty$.

Also $\int_0^\infty e^{-st} t^{p-1} dt = \frac{\Gamma(p)}{s^p}$, R(p) > 1, R(s) > 1.

Definition 1.7 The Whittaker Transform ([9], [12], [13])

The integral formula involving the Whittaker function is used to find the Whittaker transform is defined as

$$\int_0^\infty e^{-\frac{t}{2}} t^{\zeta-1} W_{\alpha,\beta}(t) dt = \frac{\Gamma(\frac{1}{2} + \beta + \zeta) \Gamma(\frac{1}{2} - \beta + \zeta)}{\Gamma(1 - \alpha + \zeta)}$$
(8)

Where $R(\beta \pm \zeta) > -\frac{1}{2}$ and $W_{\alpha,\beta}(t)$ is the Whittaker confluent Hypergeometric function

$$W_{\beta,\zeta}(z) = M_{\alpha,\beta}(z) + \frac{\Gamma(2\beta)}{\Gamma(1/2 + \alpha + \beta)} M_{\alpha,-\beta}(z)$$
(9)

Where $M_{\alpha,\beta}(z)$ is given by ([9] p.26, eqn. 1.150)

$$M_{\alpha,\beta}(z) = z^{1/2+\beta} e^{-1/2z} {}_{1}F_{1}\left(\frac{1}{2} + \beta - \alpha; 2\beta + 1; z\right)$$
(10)

Definition 1.8 The Hankel Transform [14], also see [15]

The Hankel transform of f(x), denoted by g(p; v) is defined as

$$g(p;v) = \int_0^\infty (px)^{\frac{1}{2}} J_v(px) f(x) \, dx; \ p > 0 \tag{11}$$

The following formula can be used to solve the integral in equation (see [9], p.56-57)

$$\int_0^\infty x^{\lambda-1} J_\nu(ax) \, dx = 2^{\lambda-1} a^{-\lambda} \frac{\Gamma(\frac{\lambda+\nu}{2})}{\Gamma(1+\frac{\nu-\lambda}{2})}$$

II. INTEGRAL TRANSFORMS OF $G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda,\beta}^{\phi}[z]$

Theorem 2.1: (Euler Transform)

Let $\rho, \eta, \gamma, \phi, \lambda, \beta, m, n \in C$ then Euler transform of product of special G function and Mittag – Leffler function is given as

$$B\left\{G_{\rho,\eta,\gamma}\left[a,z\right] \times E_{\lambda,\beta}^{\phi}\left[z\right];m,n\right\} = \frac{\Gamma(n)}{\Gamma(\phi)\Gamma(\gamma)^{3}} \Psi_{4}\left[\begin{array}{c} (\gamma,1);(\phi,1);(m-1+\gamma\rho-\eta,\rho+1)\\ (\rho\gamma-\eta,\rho);(\beta,\lambda);(m+\gamma\rho-\eta+n-1,\rho+1);(1,1) \end{array}\right] a \left[\begin{array}{c} (12) \\ (12) \end{array}\right]$$

Proof : Let I be the left hand side of (12)

$$I = B\left\{G_{\rho,\eta,\gamma}[a,z] \times E^{\phi}_{\lambda,\beta}[z];m,n\right\}$$

By using the definition of Euler transform (6)

$$I = \int_{0}^{1} z^{m-1} (1-z)^{n-1} G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda,\beta}^{\phi}[z] dz$$

By using equation (3)

$$I = \int_{0}^{1} z^{m-1} (1-z)^{n-1} z^{\gamma \rho - \eta - 1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (az^{\rho})^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{z^{k}}{k!} dz$$

Vol. 02, Issue 01, September (2024)

$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_k a^k}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_k}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \int_0^1 z^{m-1+\gamma\rho-\eta-1+k\rho+k} (1-z)^{n-1} dz$$

By using definition of beta function

$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_k a^k}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_k}{\Gamma(\lambda k + \beta)} \frac{1}{\Gamma(k+1)} B(m-1+\gamma\rho - \eta + k\rho + k, n)$$
$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_k a^k(\phi)_k}{\Gamma(\lambda k + \beta)} \Gamma(m-1+\gamma\rho - \eta + k\rho + k)\Gamma(n)$$

$$I = \sum_{k=0}^{\infty} \frac{1}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{1}{\Gamma(\lambda k + \beta)\Gamma(k+1)\Gamma(m-1 + \gamma\rho - \eta + k\rho + k + n)}$$

By using definition of Pochammer Symbol

$$I = \sum_{k=0}^{\infty} \frac{\Gamma(\phi+k)\Gamma(\gamma+k)}{\Gamma(\phi)\Gamma(\gamma)\Gamma(k\rho+\rho\gamma-\eta)} \frac{\Gamma(m-1+\gamma\rho-\eta+k\rho+k)\Gamma(n)}{\Gamma(\lambda k+\beta)\Gamma(k+1)\Gamma(m-1+\gamma\rho-\eta+k\rho+k+n)} \frac{a^{k}}{k!}$$

after using equation (4) we get the right hand side of (12).

Corollary 1

Use the relation between ψ function and Fox - H function (5), we get

$$B\left\{G_{\rho,\eta,\gamma}\left[a,z\right] \times E_{\lambda,\beta}^{\phi}\left[z\right];m,n\right\} = \frac{\Gamma(n)}{\Gamma(\phi)\Gamma(\gamma)}H_{3,4}^{1,3}\left[-a\left|\begin{array}{c}(1-\gamma,1);(1-\phi,1);(-m-\gamma\rho+\eta,\rho+1)\\(1-\rho\gamma+\eta,\rho);(1-\beta,\lambda);(-m-\gamma\rho+\eta-n,\rho+1)\end{array}\right]\right\}$$

Corollary 2

On taking $\phi = \beta = 0$, the generalized Mittag Leffler function reduces to classical Mittag leffler function.

$$\begin{aligned} G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda}[z] &= z^{\gamma\rho-\eta-1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (az^{\rho})^{k}}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{z^{k}}{k!} \\ B\{G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda}[z];m,n\} &= \int_{0}^{1} z^{m-1} (1-z)^{n-1} G_{\rho,\eta,\gamma}[a,z] \times E_{\lambda}[z] dz \\ &= \int_{0}^{1} z^{m-1} (1-z)^{n-1} z^{\gamma\rho-\eta-1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (az^{\rho})^{k}}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{z^{k}}{k!} dz \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{1}{k!} \int_{0}^{1} z^{m-1+\gamma\rho-\eta-1+k\rho+k} (1-z)^{n-1} dz \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{1}{\Gamma(k+1)} B(m-1+\gamma\rho-\eta+k\rho+k,n) \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho+\rho\gamma-\eta)k!} \frac{\Gamma(m-1+\gamma\rho-\eta+k\rho+k)\Gamma(n)}{\Gamma(\lambda k)\Gamma(k+1)\Gamma(m-1+\gamma\rho-\eta+k\rho+k+n)} \end{aligned}$$

Vol. 02, Issue 01, September (2024)

$$B\left\{G_{\rho,\eta,\gamma}\left[a,z\right] \times E_{\lambda,\beta}^{\phi}\left[z\right];m,n\right\} = \frac{\Gamma(n)}{\Gamma(\gamma)^{2}} \psi_{4}\left[\begin{array}{c} (\gamma,1);(m-1+\gamma\rho-\eta,\rho+1)\\ (\rho\gamma-\eta,\rho);(0,\lambda);(m+\gamma\rho-\eta+n-1,\rho+1);(1,1) \end{array}\right]a$$

Theorem 2.2: (Laplace Transform)

Let $\rho, \eta, \gamma, \phi, \lambda, \beta \in C$ and R(s) > 0 then Laplace transform of product of special G function and Mittag Leffler function is given as

$$L\left\{G_{\rho,\eta,\gamma}\left[a,t\right] \times E_{\lambda,\beta}^{\phi}\left[t\right];s\right\} = \frac{1}{\Gamma(\phi)\Gamma(\gamma)s^{\gamma\rho-\eta}} \psi_{3}\left[\binom{(\gamma,1);(\phi,1);(\gamma\rho-\eta,\rho+1)}{(\rho\gamma-\eta,\rho);(\beta,\lambda);(1,1)} \left|\frac{a}{s^{\rho+1}}\right]$$
(13)

Proof : Let I be the left hand side of (13)

$$I = L\left\{G_{\rho,\eta,\gamma}[a,t] \times E^{\phi}_{\lambda,\beta}[t];s\right\}$$

then by definition of Laplace transform (7)

$$I = \int_{0}^{\infty} e^{-st} G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda,\beta}^{\phi}[t] dt$$

By using equation (3)

$$\begin{split} I &= \int_{0}^{\infty} e^{-st} t^{\gamma \rho - \eta - 1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (at^{\rho})^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{t^{k}}{k!} dt \\ I &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \int_{0}^{\infty} e^{-st} t^{\gamma \rho - \eta - 1 + k\rho + k} dt \\ I &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{\Gamma(k+1)} \frac{\Gamma(\gamma \rho - \eta - 1 + k\rho + k + 1)}{s^{\gamma \rho - \eta - 1 + k\rho + k + 1}} \\ I &= \sum_{k=0}^{\infty} \frac{\Gamma(\phi + k)\Gamma(\gamma + k)}{\Gamma(\phi)\Gamma(\gamma)\Gamma(k\rho + \rho\gamma - \eta)} \frac{\Gamma(\gamma \rho - \eta + k\rho + k)}{\Gamma(\lambda k + \beta)\Gamma(k+1)s^{\gamma \rho - \eta + k\rho + k}} \frac{a^{k}}{k!} \\ I &= \frac{1}{\Gamma(\phi)\Gamma(\gamma)s^{\gamma \rho - \eta}} \sum_{k=0}^{\infty} \frac{\Gamma(\phi + k)\Gamma(\gamma + k)}{\Gamma(k\rho + \rho\gamma - \eta)} \frac{\Gamma(\gamma \rho - \eta + k\rho + k)}{\Gamma(\lambda k + \beta)\Gamma(k+1)} \left(\frac{a}{s^{\rho + 1}}\right)^{k} \frac{1}{k!} \end{split}$$

after using equation (4) we get the right hand side of (13).

Corollary 1.

On taking $\phi = \beta = 0$, the generalized Mittag -Leffler function reduces to classical Mittag- leffler function

$$L\left\{G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda}[t]\right\} = \int_{0}^{\infty} e^{-st} G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda}[t] dt$$

$$\begin{split} &= \int_{0}^{\infty} e^{-st} t^{\gamma \rho - \eta - 1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} \left(at^{\rho}\right)^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{t^{k}}{k!} dt \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{1}{k!} \int_{0}^{\infty} e^{-st} t^{\gamma \rho - \eta - 1 + k\rho + k} dt \\ &= \sum_{k=0}^{\infty} \frac{(\gamma)_{k} a^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{1}{\Gamma(k+1)} \frac{\Gamma(\gamma \rho - \eta - 1 + k\rho + k + 1)}{s^{\gamma \rho - \eta - 1 + k\rho + k + 1}} \\ &= \sum_{k=0}^{\infty} \frac{\Gamma(\gamma + k)}{\Gamma(\gamma)\Gamma(k\rho + \rho\gamma - \eta)} \frac{\Gamma(\gamma \rho - \eta + k\rho + k)}{\Gamma(\lambda k)\Gamma(k+1)s^{\gamma \rho - \eta + k\rho + k}} \frac{a^{k}}{k!} \\ &= \frac{1}{\Gamma(\gamma)s^{\gamma \rho - \eta}} \sum_{k=0}^{\infty} \frac{\Gamma(\gamma + k)}{\Gamma(k\rho + \rho\gamma - \eta)} \frac{\Gamma(\gamma \rho - \eta + k\rho + k)}{\Gamma(\lambda k)\Gamma(k+1)s^{\gamma \rho - \eta + k\rho + k}} \left(\frac{a}{s^{\rho + 1}}\right)^{k} \frac{1}{k!} \\ &L \left\{ G_{\rho,\eta,\gamma} \left[a, t \right] \times E_{\lambda} \left[t \right] \right\} = \frac{1}{\Gamma(\gamma)s^{\gamma \rho - \eta}} {}_{2} \Psi_{3} \left[\begin{pmatrix} (\gamma, 1); (\gamma \rho - \eta, \rho + 1) \\ (\rho \gamma - \eta, \rho); (0, \lambda); (1, 1) \end{vmatrix} \right] \frac{a}{s^{\rho + 1}} \right] \end{split}$$

Theorem 2.3: (Whittaker Transform)

Let $\rho, \eta, \gamma, \phi, \lambda, \beta \in C, R(\sigma) > 0$ and $R(\nu \pm \sigma) > -1/2$, the Whittaker transform of product of special G function and Mittag - Leffler function is given as

$$\int_{0}^{\infty} t^{\sigma-1} e^{-\frac{\mu t}{2}} W_{\alpha,\nu}(\mu t) \left\{ G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda,\beta}^{\phi}[t] \right\} dt = \left(\frac{1}{\mu}\right)^{\sigma-1+\gamma\rho-\eta} \frac{1}{\Gamma(\gamma)\Gamma(\phi)} \times \left[\left(\gamma,1\right); \left(\phi,1\right); \left(\nu+\sigma-\frac{1}{2}+\gamma\rho-\eta,\rho+1\right); \left(-\nu+\sigma-\frac{1}{2}+\gamma\rho-\eta,\rho+1\right) \right] \frac{a}{\mu^{\rho+1}} \right] (14)$$

$$\times_{4} \psi_{4} \left[\left(\beta,\lambda\right); (1,1); \left(\rho\gamma-\eta,\rho\right); \left(-\alpha+\sigma+\gamma\rho-\eta,\rho+1\right) \right] \frac{a}{\mu^{\rho+1}} \right] (14)$$

Proof : Let I be the left hand side of (14)

$$I = \int_{0}^{\infty} t^{\sigma-1} e^{-\frac{\mu t}{2}} W_{\alpha,\nu}(\mu t) \Big\{ G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda,\beta}^{\phi}[t] \Big\} dt$$

By using equation (3)

$$I = \int_{0}^{\infty} t^{\sigma-1} e^{-\frac{\mu t}{2}} W_{\alpha,\nu}(\mu t) \left\{ t^{\gamma \rho - \eta - 1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (at^{\rho})^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{t^{k}}{k!} \right\} dt$$
$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (a)^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \int_{0}^{\infty} t^{\rho k + \sigma + k - 1 + \gamma \rho - \eta - 1} e^{-\frac{\mu t}{2}} W_{\alpha,\nu}(\mu t) dt$$
Put $\mu t = \delta$ and $dt = \frac{d\delta}{\mu}$, we get

© 2024, SIJMR All Rights Reserved

$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k}(a)^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \int_{0}^{\infty} \left(\frac{\delta}{\mu}\right)^{\rho k + \sigma + k - 1 + \gamma\rho - \eta - 1} e^{-\frac{\delta}{2}} W_{\alpha,\nu}(\delta) \frac{d\delta}{\mu}$$
$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k}(a)^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \left(\frac{1}{\mu}\right)^{\rho k + \sigma + k - 1 + \gamma\rho - \eta} \int_{0}^{\infty} (\delta)^{\rho k + \sigma + k - 1 + \gamma\rho - \eta - 1} e^{-\frac{\delta}{2}} W_{\alpha,\nu}(\delta) d\delta$$

By definition of Whittaker transform (8)

$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k}(a)^{k}}{\Gamma(k\rho + \rho\gamma - \eta)\Gamma(k+1)} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{1}{k!} \left(\frac{1}{\mu}\right)^{\rho^{k+\sigma+k-1+\gamma\rho-\eta}} \times \frac{\Gamma(\frac{1}{2} + \upsilon + \rho k + \sigma + k - 1 + \gamma\rho - \eta)\Gamma(\frac{1}{2} - \upsilon + \rho k + \sigma + k - 1 + \gamma\rho - \eta)}{\Gamma(1 - \alpha + \rho k + \sigma + k - 1 + \gamma\rho - \eta)}$$
$$I = \sum_{k=0}^{\infty} \frac{\Gamma(k + \gamma)\Gamma(k + \phi)(a)^{k}}{\Gamma(\gamma)\Gamma(\phi)\Gamma(k\rho + \rho\gamma - \eta)\Gamma(k+1)\Gamma(\lambda k + \beta)} \frac{1}{k!} \left(\frac{1}{\mu}\right)^{\rho^{k+\sigma+k-1+\gamma\rho-\eta}} \times \frac{\Gamma(\upsilon + \rho k + \sigma + k - \frac{1}{2} + \gamma\rho - \eta)\Gamma(-\upsilon + \rho k + \sigma + k - \frac{1}{2} + \gamma\rho - \eta)}{\Gamma(-\alpha + \rho k + \sigma + k + \gamma\rho - \eta)}$$

after using equation (4) we get the right hand side of (14).

Corollary 1.

If we are taking $\phi = \beta = 0$, then it becomes

$$\begin{split} &\int_{0}^{\infty} t^{\sigma-1} e^{-\frac{\mu}{2}} \mathbf{W}_{\alpha,\upsilon}(\mu t) \Big\{ G_{\rho,\eta,\gamma}[a,t] \times E_{\lambda}[t] \Big\} dt \\ &= \int_{0}^{\infty} \sigma^{-1} e^{-\frac{\mu}{2}} \mathbf{W}_{\alpha,\upsilon}(\mu t) \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (at^{\rho})^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{1}{\Gamma(\lambda k)} \frac{t^{k}}{k!} dt \\ &= \left(\frac{1}{\mu}\right)^{\sigma^{-1+\gamma\rho-\eta}} \frac{1}{\Gamma(\gamma)^{3}} \psi_{4} \begin{bmatrix} (\gamma,1); \left(\upsilon + \sigma - \frac{1}{2} + \gamma\rho - \eta, \rho + 1\right); \left(-\upsilon + \sigma - \frac{1}{2} + \gamma\rho - \eta, \rho + 1\right)}{(0,\lambda); (1,1); (\rho\gamma - \eta, \rho); (-\alpha + \sigma + \gamma\rho - \eta, \rho + 1)} \Big| \frac{a}{\mu^{\rho+1}} \end{bmatrix} \end{split}$$

Theorem 2.4: (Hankel Transform)

Let $\rho, \eta, \gamma, \phi, \lambda, \beta, m, n \in C$ then Hankel transform of product of special G function and Mittag – Leffler function is given as

$$g(p;\nu) = \frac{2^{\tau+\gamma\rho-\eta-\frac{3}{2}}q^{-\tau-\gamma\rho+\eta+1}}{\Gamma(\gamma)\Gamma(\phi)} \times {}_{3}\psi_{4} \left[(\gamma,1);(\phi,1); \left(\frac{\tau+\gamma\rho-\eta-\frac{1}{2}+\nu}{2};\frac{\rho+1}{2}\right) \\ (\rho\gamma-\eta,\rho);(\beta,\lambda);(1,1); \left(\frac{5}{2}+\nu-\tau-\gamma\rho+\eta}{2};\left(\frac{-(\rho+1)}{2}\right)\right) \frac{2^{(\rho+1)}a}{q^{(\rho+1)}} \right]$$
(15)

Proof : Let I be the left hand side of (15)

$$I = g(p; \nu) = \int_{0}^{\infty} x^{z-1} (qx)^{\frac{1}{2}} J_{\nu}(qx) \{ G_{\rho, \eta, \gamma}[a, x] \times E_{\lambda, \beta}^{\phi}[x] \} dx$$

By using equation (3)

$$I = \int_{0}^{\infty} x^{z-1} (qx)^{\frac{1}{2}} J_{\nu}(qx) \left\{ x^{\gamma \rho - \eta - 1} \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (ax^{\rho})^{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!} \frac{(\phi)_{k}}{\Gamma(\lambda k + \beta)} \frac{x^{k}}{k!} \right\} dx$$
$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k} (a)^{k} (q)^{\frac{1}{2}} (\phi)_{k}}{\Gamma(k\rho + \rho\gamma - \eta)k! \Gamma(\lambda k + \beta)} \frac{1}{k!} \int_{0}^{\infty} x^{k\rho + k + z + \gamma\rho - \eta - \frac{1}{2} - 1} J_{\nu}(qx) dx$$

Using the following formula to solve the integral

$$\int_{0}^{\infty} x^{\lambda-1} J_{\nu}(ax) dx = 2^{\lambda-1} a^{-\lambda} \frac{\Gamma\left(\frac{\lambda+\nu}{2}\right)}{\Gamma\left(1+\frac{\nu-\lambda}{2}\right)}$$

We have

$$I = \sum_{k=0}^{\infty} \frac{(\gamma)_{k}(a)^{k}(q)^{\frac{1}{2}}(\phi)_{k}}{\Gamma(k\rho + \rho\gamma - \eta)k!\Gamma(\lambda k + \beta)} \frac{1}{k!} 2^{k\rho + k + z + \gamma\rho - \eta - \frac{1}{2} - 1} q^{-\left(k\rho + k + z + \gamma\rho - \eta - \frac{1}{2} + \upsilon\right)}}{\Gamma\left(1 + \frac{\upsilon - k\rho - k - z - \gamma\rho + \eta + \frac{1}{2}}{2}\right)} \frac{\Gamma\left(\frac{k\rho + k + z + \gamma\rho - \eta - \frac{1}{2} + \upsilon}{2}\right)}{\Gamma\left(1 + \frac{\upsilon - k\rho - k - z - \gamma\rho + \eta + \frac{1}{2}}{2}\right)}$$
$$I = \sum_{k=0}^{\infty} \frac{\Gamma(k + \gamma)\Gamma(k + \phi)2^{z + \gamma\rho - \eta - \frac{3}{2}}q^{(-z - \gamma\rho + \eta + 1)}}{\Gamma(\gamma)\Gamma(\phi)\Gamma(k\rho + \rho\gamma - \eta)\Gamma(k + 1)\Gamma(\lambda k + \beta)} \frac{\Gamma\left(\frac{z + \gamma\rho - \eta - \frac{1}{2} + \upsilon}{2} + \frac{k(\rho + 1)}{2}\right)}{\Gamma\left(\frac{\upsilon - z - \gamma\rho + \eta + \frac{5}{2}}{2} - \frac{k(\rho + 1)}{2}\right)} \left(\frac{2^{\rho + 1}a}{q^{(\rho + 1)}}\right)^{k} \frac{1}{k!}$$

after using equation (4) we get the right hand side of (15).

III. CONCLUSION

The novel conclusions gained in this study can be further adjusted in a variety of new and known integral transformations that find use in applied mathematics, bio-engineering, science, and engineering, among other fields. A few expansions of the primary findings are also taken into account. The current study yields several integral transformations that may be computed in terms of the Fox-Wright function by using the product of the Mittag Leffler function and the special G function.

REFERENCES

- [1] Lorenzo, C. F. and Hartley, T. T.; "Initialized fractional calculus", *International Journal of Applied Mathematics*, 2000; 3, pp. 249-265.
- [2] Lorenzo, C. F. and Hartley, T. T.; "Generalized functions for the fractional calculus", *NASA*, *Tech Publication*, 1999; 209424, pp. 1-17.
- [3] Prabhakar, T. R., "A Singular Integral Equation with a Generalized Mittag- Leffler function in the kernel", *Yokohama Math. J*, 1971; 19, pp. 171-183
- [4] Srivastava, H. M. and Karlson, P. W.; *Multiple Gaussian Hypergeometric Series, Chichester*, *Brisbone and Toronto, New York*: Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, 1985.
- [5] Fox, C.; "The Asymptotic Expansion of Generalized Hypergeometric Functions", *Proc. London Math.* Soc., 1928; 27(2), pp. 389-400.
- [6] Wright, E. M.; "The Asymptotic Expansion of Integral Function Defined By Taylor Series", *Philos*. *Trans. Roy. Soc. London*, ser. A, 1940; 238, pp. 423-451.
- [7] Wright, E. M.; "The Asymptotic Expansion of The Generalized Hypergeometric Function II", *Proc. London Math. Soc.*, 1940; 46(2), pp. 389-408.
- [8] Wright, E. M.; "The Asymptotic Expansion of The Generalized Hypergeometric Function", *J. London Math. Soc.*, 1935; 10, pp. 286-293.
- [9] Mathai, A. M., Saxena, R. K. and Hauhold, H. J.; *The H-Function Theory and Application*, London; Springer New York Dordrecht, Heilberg, 2010.
- [10] Sneddon, I.N.; *The use of Integral Transform*, New Delhi, Tata McGraw Hill, (1979).
- [11] Kabra, S., and Nagar, H.; "Some integral transform of the generalized function" *Journal of Science and Arts*, 2019, *4*(49), pp. 859-868.
- [12] Agarwal R, Jain S, Agarwal RP and Baleanu D., "A Remark on the Fractional Integral Operators and the Image Formulas of Generalized Lommel–Wright Function," *Front. Phys.*, 2018; 6, 79, 1-10.
- [13] Whittaker, E.T. and Watson, G. N.; *A Course of Modern Analysis, Cambridge, UK* ; Cambridge Univ. Press., 1996
- [14] Piessens, R.; "*The Hankel Transform*" *The Transforms and Applications Handbook*: Second Edition. Ed. Alexander D. Poularikas Boca Raton: CRC Press LLC, (2000).
- [15] Kulmitra, M., & Tiwari, S. K. (2024). Investigation of Integral Transformation Associated with Extended Generalized Srivastava's Hypergeometric Multi Variable Special Function. *Mikailalsys. Journal of Advanced Engineering International*, 1(1), 57-73.